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T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] statistics for Pedestal Position [Gain index 5]
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T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] for Pedestal FWHM [Gain index 5, LEX8]
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[PiBinc] 060716081428 FM119_calf_shp_pO01.csv [ 29.4C]
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[Pilinc] 060722160628 FM119_calf_shp_p01.csv [ 24.7C]
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[TO2-FM119_tot Test 2]

[CERN060726] 060727080719_FM119_calf_shp_pO01.csv [ 24.8C]
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[TO2-FM119_tot Test 2]

[CERN060905] 060905201456_FM119_calf_shp_p01.csv [ 25.0C]
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[T02-FM119_tot Test 3]

[PiBinc] 060716080030_FM119_calf_gain_p01.csv [ 29.4C]

[Pilinc] 060722154944 _FM119_calf_gain_p01.csv [ 24.5C]

[CERN060726] 060727075308_FM119_calf_gain_p01.csv [ 24.5C]

[CERN060905] 060905200052_FM119_calf_gain_p01.csv [ 24.9C]
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o T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] for LOWEST Relative Gain [Gain index 5, LEX1]
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o T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] for LOWEST Relative Gain [Gain index 5, HEX8]

'\. of
15-" T T Hime phase
E!+ COL 1
. :“.—-Mhﬁ_.
o Time phase

fY+ COL?2

- e @ = = el

Time phase

jEY+COL4

[ EESEEES—S———— -1.5 B IR S —
-0-9.200.2.49.6.811.21.4.6.82 .Q.E.%S.BA -0-9.200.20.9.©.811.2.4.6.82 .‘2.8.%3.2.4 -0-4.200.2.4.6.811.21.4.64.8 2?.2.&.&113.2.4
Ime phase ime p

ime ase

Time phase

fX+ COL 8
0.5E

OF so—( o =0 2=
-0.5

15 S T ime phase
& X+ COL 9

0.5E

0FE -.W—o
-0.5

15' T Time phase 15 T Time phase
®* "4fX+ COL 10 ®*74fY+ COL 10
0.5 0.5
0 no——#&g‘ 0FE esso——=SSg——mnty——__o%
-0.5 -0.5
-1 1
1.5 15
-0-0.200.20.9.6.811.2.4.6.22.22.2.2.83 3.3 4 -0-9.200.2.9.6.811.21.4.6.82 .2.3.8113.3.4
15 Ime phase 1.5 Ime phase
®741EY+ COL 11
0.5
0F eso—25— 0z
-0.5
-1
-1.5

-0-4.200.2.9.6.811.21.4.6.82 ?_ﬁr%gﬁ?a él



—ROW 0
—ROW 1
o T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] for LOWEST Relative Gain [Gain index 5, HEX1]
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T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] statistics for LOWEST Relative Gain [Gain index 5]
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T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] for HHGHEST Relative Gain [Gain index 5, LEX8]
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T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] for HHGHEST Relative Gain [Gain index 5, LEX1]
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o T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] for HIGHEST Relative Gain [Gain index 5, HEX8]
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—ROW 0
—ROW 1
o T02-FM119_tot TIME EVOLUTION [Reference=PiBinc] for HHGHEST Relative Gain [Gain index 5, HEX1]
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